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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

Answer question numbers 1, 2 and 3 and any
Jour from the rest.

1, 2 9% 37 299 Be9 @R[ &I 6 ST A

Rt sifdbre T &R0
1. Fill in the blanks: 1x4=4
QST ST A FAe
(i Frequency polygon can be drawn with
the help of . '
| RIEO! WGE T RS et IR
A1 | | |

Contd.



BIKALI COLLEGE LIBRARY

(it)

is always the best measure of
central tendency.

M R R @ WA |

(i) When r = +1, there is between
x and y.
QAT r = +1, (OB x AP yI AVSHS
T |

(lv) The mean and variance of the Poisson
distribution are

TG ITAF WY WP A T .

Choose the correct answer : 1

ag eI [R5 o1 ¢

(v) The sales of wool and umbrella are
associated with which component of the
time series ?

T W QYo PR crae I @it

AT HITS ?

(a) Secular trend
AT 2Tl

(b) Seasonal variation
gl et
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(c) Irregular variation
RILIC>SACIESS)

(d) All of the above
B FAFCAI

Choose the correct answer : 1
a7 TeIo! Wi ¥ ¢

(vi) If C is constant, then
IM C Gl &7F =, (ST
(@ E(C)=20
() E(C) =1
(co E(C)=C

(d) None of the above
qoNe W

Choose the correct answer: 1
u% Tl R ¥4 8

(vii) For mutually exclusive events A and B
Aog IRES WAl A HF B AW
(aq) P(A+B) = P(A)+ P(B)
(b) P(A+B) =1
(o0 P(A+B) = P(A)P(B)
(d) PA+B)=0Q
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Choose the correct answer : 1

ag Tedo! e ¥ 8

(viii) The 3o limits for control charts were
proposed by

fEd Ba’ 30 AN W9RTIRE

(a) Karl Pearson
- I foicE=eS

(b) Shewhart
AT -

(c) Kolmogorov
FeITS

(d) Fisher
=

(ix) What is null hypothesis ? 1
& eos e & @l @

(x) Define the relation between E and A.

E IR A TS Tt forat |

2. Answer the following questions: 2x5=10

wee Al SRIR] Tel forl 2

(@) What is the difference between sample
and population ?

Wwwﬁawmwﬁs?

1
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(b) Mention the various measures of
dispersion.

fRoeer for MekhR BE =)

(c) Define coefficient of correlation between
two variables.

VoI 5T WIS APTEE  Qelleol o fodii |

(d) Distinguish between interpolation and
extrapolation.

S S IR S NP S 4 |

() What are time reversal and factor
reversal tests?

T ST Wi Totivia aifScam st et
& 3= 2

3. Answer any four of the following questions :
' ! 5x4=20

o Rt sIfAsT eve Tes Bl e

(a) Explain briefly the scope of statistics

in modern world. 5
wigf 5T #AfRFYT R AR o
X9
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(b) Define a weighted mean. Show that for
a set of positive values AM 2 GM > HM.
2+3=5

SYE eI RH WA o499 [ @ (Il
GIET NIFS AR CFAS PIROF TG T4j >
GG T > T[S N |

(c) The mean of a binomial distribution is
40 and standard deviation is 6.
Calculate n, p and gq. 5

T%ﬁwa%#ﬁﬁﬁmmw i Rbew I
40 W% 6. n, p WF g F T 01

(d) Distinguish between point estimation
and interval estimation. What are the

characteristics of a good estimator ?
3+2=5

R ST IR SN NS WSS (A
73Z o7l | GOl ©iF Seeiy (ISR [ 9 2

(e) Discuss the relative advantages and
limitations of sample survey and

census. S
fom| T % PreR R S FuRael-
TR Al B+ |
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(/) Draw a histogram from the following
data:

e o AR 2[B! RPAT S 111 2

S

Class Interval

T Sl

10-20

20-30

30-40

40-50

50-60

60-70(70-80

Frequency

BISKNIEIO)|

3 10

14

24

17

4. (a) Define median. Determine median for
the following distribution :

aﬁnnﬂﬁwﬁf%§§ﬂ?tﬁmsﬁhnaﬁmavﬁramwT

2+4=6

fefa a1 ¢
. | Daily wages (%) No. of workers
- |Reet g} S AR
| 50-55 6
55-60° 10
60-65 22
65-70 30
70-75 16
75-80 12
80-85 15
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(b) Define type I and type Il errors

associated with testing of hypothesis.
2+2=4

LTS ARTFIR 5O TOS YT AFE F(0 S
RS oo & 3dw 341 |

5. (a) The equations of the two regression
lines are as below: 6

TOIE AT ([FUF TAIFIPTR OeTe GEd
] T 8

8x-10y+66=0

40x-18y =214

Find r and the mean values of x and y.

r R =0 W% x Wi y 3 Ty [y =1

(b) What ‘is a time series? Mention the

components of time series. 2+2=4
AN oA [ o 2 AT ROt
T /1|

6. (a) Calculate price index numbers for 1970
by Laspeyre’s, Paasche’s and Fisher’s

method from the following: 6
oo Al WF #iF 1970 57K AR =AGCATR,
AR W= YR Ty paike [T 101
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Commodity Price | Quantity | Price | Quantity
Eg 1965 1965 1970 1970
ety wif<nel PGl “Afesid

A 4 20 6 10

B 3 15 S 23

C 2 29 3 15

D S 10 4 40

(b) What are control chart ? What are X

(@)

(b)

4 (Sem-2) BUST/G

and R charts used for process control ?

2+2=4
g o i [ 3 2 Testive AR FagTs

I @ X ©i= R foa feeet & = ¢

State Newton’s forward interpolation
formula. Find f (3 5) usmg the following
data : 2+4=6

ﬁ‘ﬁ‘mwﬁmmﬁwmmﬁ
IR f(35) Rfazaie

x 3 4 S 6

4 13 25 43

y

Let A and B be two possible outcomes of
an experiment and suppose P (A)=0+4,
P(AUB)=07 and P(B)=P. Find the
value of P, if

(i) A and B are mutually exclusive ;

(ii) A and B are independent. 4
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41 T A S1% B B! T R 0! RN
Yol W P(A)=04, P(AUB)=07,
P(B)=P

P 3 9F fRefa 71 g

() A% B TR g ;
(i) A Y3 BT
8. (a) When does the binomial distribution
tend to the normal distribution ?
The probability of A’s winning a game

3
against B is 7 Find the probability

that he wins at least 3 games out of 5.
2+4=6

oM T4 (SO LT ITAF 86F BILA 2

@I 61 (¥eTe B Retes AT oo s@ifiiel

Q’ﬁ%ltﬂf@m{e 561 foese 361 foreiq

TAsifet RefT =11

(b) Define ogive. What are the different
types of diagrams commonly used for

the presentation of statistical data?
1+3=4

Hive e & @ ¢ ARG Oy AT
CFAS (IR B Torgiom A 27 ¢
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9. (a) Applying Lagrange’s formula, find the
value of f(x) when x=0 from the

table given below: 6
X -1 -2 2 4
f(x)| -1 -9 11 69

. NG @ III IR x =0 I AW oe7s Al
SR *[ f (x) I I [ =0 ¢
X -1 -2 2 4
f(x)] -1 9 11 69

(b)) What are positive and negative
skewness ? 4

AT SN A NS T & &l 2

10. (@) A random variable X follows Poisson
distribution with parameter 4. Find the
probabilities that X assumes the values
i 0, 1, 2, 4; (ii) less than 2; (iii)) at

least 3. (Given that e =00183)
2+2+2=6

G5 I HEF X, W6 ITAR SIS TR
A6 4. X I 9o A PR [ FSife!
[fa = () 0, 1, 2, 4; (i) 2 OF 3

(it)) fescae 31 (fra =R e =0-0183)
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(b) A box contains a white and b black
balls; ¢ balls are drawn. Find the
expectation of the number of white balls
drawn. 4

Bl 6O @ B 61 W% b B FEA 9 SifesT
c BI I= wferedt E | 6l I wleneaw sifafss

Aot fefeT <=l

11. (a) Write short notes on any two of the
following : . 3%x2=6

WWWWW

(ij Level of significance

- Al T
.- (i) Kurtosis
 JIofRE A FIX IOl
(i) Limitations of statistics

AR Rwmg ARTe!

(tv) Mathematical expectation with
example

sifafes erept (Twresteca oTe)

(b) Discuss the various methods of
collecting primary data. 4

I Oy RIF [fen Aafomz s 1|
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